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Set-A

1. At the formal operational stage, the
individuals :
(A) Develop concrete experiences.
(B) Think in abstract and more logical
way.
(C) Both (A) and (B)
(D) Develop logical thinking only.

2. The concept of "zone of proximal

development" means :

(A) tasks too difficult for children to
master alone but that can be
mastered with assistance

(B) tasks too €asy for children can be
mastered with assistance.

(C) tasks too difficult for children to
master alone but that can be
mastered without assistance.

(D) none of the above

3. Which of the following statement is

correct about Attention :

(A) As children grow up, their abilities
both to direct selective attention
and to divide attention also
improve. '

(B) As children grow up their abilities
both for indirect attention and to
divide attention also improve.

(C) As children grow up their abilities
to voluntary attention decreases.

(D) As children grow up their abilities
to ' involuntary attention remains
same.

P. T2 0.
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4. Rehearsal is :

(A) a better strategy for sensory
memory than long term memory.

(B) a better strategy for short term

memory than long term memory.

(C) a better strategy for long term
memory than short term memory.

(D) a better strategy for short term
memory and long term memory.

One way to encourage students to think

critically is :

(A) to present them with controversial
topics

(B) to present them with both sides of
an issue to discuss

(C) both (A) & (B)

(D) none of these

Which of the following statement is correct :

Children who enter elementary school
with a small vocabulary are at :

(A) risk of developing reading problems

(B) risk of developing emotional
problems

(C) risk of developing writing problems

(D) none of the above

Which of the following statement is frue :

(A) Bilingualism has a positive effect
on children's cognitive development.

(B) Children who are fluent in two
languages perform better than their
single language counterparts

(C) Both (A) &:(B)
(D) Neither (A) nor (B)
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8. A student may study for a test because
he or she enjoys the content of the
course, is an example of :

(A) Intrinsic motivation

(B) Achievement motivation
(C) Extrinsic motivation
(D) Social motivation

9. The children who feel they have ..........

teachers, are more strongly motivated to
engage in academic work :

(A) Supportive ;

(B) Caring

(C) Both (A) & (B)
(D) Neither (A) nor (B)

10. The period of ........... andt::. .5 from

about 6 to 11 years of age, involves
slow, consistent growth :

(A) Early and Middle childhood

(B) Middle and Late childhood

(C) Infancy and Middle childhood
(D) Late childhood and Adolescence

11. The boys and girls learn gender specific

roles in which stage of development :
(A) Early childhood

(B) Late childhood

(C) Adolescence

(D) Adulthood

12. The attention span of 6 to 8 years old

child is :

(A) 3 to 4 minutes
(B) 5 to 10 minutes
(C) 15 to 20 minutes
(D) 40 to 60 minutes

PO,
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of summative

The main purpose
evaluation is :

(A) Grading and certification of students
(B) Continuous evaluation

(C) Comprehensive evaluation

(D) External evaluation

At the elementary (upper primary)

level, written assignments should be

given to students because they :

(A) helps the students to learn the art of
using library services

(B) motivates students for self study

(C) both (A) & (B)

(D) none ofthe above

If you are a teacher and you are
planning to develop a examination
paper for class 8th students, what type
of questions will you select :

(A) Only application and knowledge
based questions

(B) Only knowledge and understanding
based questions

(C) Only knowledge based questions

(D) Application, understanding and
knowledge based questions :

The process of cognitive learning
method includes :

(A) perception, concept formation,

memory and reasoning.

(B) learning, doing, perception and
memory.

(C) memory, concept
learning and doing.

formation,

(D) sensation, attention, perception and
' . motivation.
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Memory has three primary functions :
(A) recognizing,
retaining

remembering and

(B) memorizing,
remembering.

retaining and

(C) storing, recalling and remembering

(D) recalling,
remembering

reproducing and

Which of the following statement is
correct about examination stress :

High stress can interfere with the
students in —

(A) Preparation

(B) Concentration

(C) Both (A) and (B)

(D) Preparation,
performance

concentration and

If your student is feeling very nervous

during examination, what would you

suggest :

(A) say to leave the examination and go
home

(B) ask him to drink a glass of water
(C) try to help him to relax
(D) scold him for not preparing well

The role of motivation in learning is

1. to accumulate the learning ability
in students.

2. to help in creating attention.
3. to direct behaviour.
(A) Only 1 &2
(B) Only 1 &3
(C) Only 2&3
(DY 152 &3
P/ s
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The main components of creativity are :
1. Fluency

2. Originality
3. Elaboration
4, Redefining
A)1&2 (B) 1,2&3
M) 1&3

The example of negative reinforcement

is:

(A) Not to get good marks.

(B) Not to praise the student who gets
low marks in the examination. :

(C) To stop the child from watching
T.V. who is doing mischief.

(D) None of the above

Which of the following is a higher order
need according to Maslow's Theory of
Hierarchy of needs :

(A) physiological needs

(B) safety needs

(C) self-actualization

(D) none of these '

Intelligence test is used for :

1. the classification of students
2. diagnostic purpose

3. testing of interest of students
(A) 1&2 B) 1,2&3
©€)2&3 D) 1&3

According to the constructivistic
approach, the teacher's activities may be
such that it help the child in :

1. clarifying ideas

2. providing rational experimentation
3. memorize

4. guiding experimentation

(A) 1,2,3&4 (B) 1,2&4

(C) 1,2&3 (D) 1,3 &4
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In constructivistic
student don't :

classroom, the

(A) design experiments

(B) draws conclusion

(C) tests hypothesis

(D) participate passively in learning

What could be the steps to implement
creative writing :
(A) allow students to express freely

(B) provide appropriate feedback to
students

(C) offer good models of writing
(D) all of the above

The most important factor related to
classroom learning is :

(A) The psycho motor development of
the students should be best

(B) In the classroom teaching, if the
teacher ensures the maximum
participation of students in lesson
development, the status of learning
will be that much high

(C) To motivate students to memorise
lesson from time to time

(D) To do summative evaluations of
students

Special children includes :

(A) impaired children

(B) emotionally special children
(C) genius children

(D) all of the above

Which of the following is a
standardized psychological method :

(A) Autobiography
(B) Sociometry
(C) Aptitude testing
(D) Observation

P. 56!
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First Language — English

Direction (Q. No. 31 to 35) : Read the poem
given below and answer the questions that
follow by selecting the most appropriate
option.

When I had money, money, O !

I knew no joy till I went poor;

For many a false man as a friend

Came knocking all day at my door.

Then felt I like a child that holds

A trampet that he must not blow

Because a man is dead; I dared

Not speak to let this false world know.

Much have I thought of life, and seen

How poor men's heart are ever light;

And how their wives do hum like bees

About their work from morn till night.

So, when I hear these poor ones laugh

And see the rich ones coldly frown

Poor men, think I, need not go up

So much as rich men should come down.

When I had money, money, O!

My many friends proved all untrue;

But now I have no money, O!

My friends are real, though very few.

31. Poet's comments about people without
money is that :

(A) they coldly frown
(B) they beat the trumpet
(C) they knock at people's door
(D) they are happier
32. "Hum like bees" here means :

(A) noisy (B) light heartedly
(C) unpleasantly (D) quietly

Set-A
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33.

34.

35,

Which of the following explains the
meaning of "need not go up” and "come
down" ?

(A) The poor should become rich and
rich should become poor

(B) The rich and the poor should
remain the same

(C) The rich need to give up their pride
to understand the poor

(D) The poor should raise their
standard and understand the rich

"Coldly frown" here means :
(A) thinking seriously

(B) indifferent and uncaring
(C) remain in doubt

(D) full of confidence

And see the rich ones coldly frown —
'the rich’ in the line :

(A) Adverb

(B) Adjective

(C) Noun

(D) None of the above

Direction (Q. No. 36 & 37) : Choose the
option that “describes the meaning of the
following idioms and phrases.

36.

The boy turned a deaf ear to the
pleadings of all his well-wishers.

(A) listened carefully

(B) was deadly opposed

(C) posed indifference

(D) did not pay any attention

P. T40:



37. Reading between the lines :
(A) reading slowly and haltingly
(B) understanding the sense rather than
the actual words ;
(C) understanding the meaning of
words and not the sense
(D) reading superficially

Direction (Q. No. 38 & 39) : Choose the word
nearest in meaning to underlined part.

38. Ritu asked Rashmi no to meddle in her

affairs.
(A) intercede (B) impose
(C) cross (D) interfere

39. One must not be callous to women

folk :
(A) kind (B) hard hearted
(C) arrogant (D) proud

Direction (Q. No. 40 & 41) : Select the most
suitable word for the given expressions.

40. A person who does not believe in God.
(A) Atheist
(B) Non-believer in God
(C) Iconoclast
(D) Fanatic

41. One who remains absent from duty
without permission :
(A) disobedient (B) irregular
(C) truant - (D) imposter
Direction (0. No. 42 & 43) : Select the most

appropriate alternative in each of the following
questions :

42. The teacher was displeased
................. him.
(A) with (B) at
(C) on (D) upon
Set-A
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2 s sl e SR run five miles in one
hour
(A) ought (B) could
(C) should (D) can

44. Reorder the following words and
phrases to make a meaningful sentence :

to live / in peace / forgiving / of others /

and forgetting / best way / is the / the

wrongs.

(A) Forgiving of others in peace to live
and forgetting is the best way the
wrongs ' ;

(B) Forgiving and forgetting is the best
way of the wrongs to live in peace

(C) Forgiving and forgetting the
wrongs of other is the best way to
live in peace

(D) The wrong of others forgiving and

forgetting is the best way to live in
peace

45. 'Tripthong' has :
(A) one vowel sequence
(B) two vowel sequence
(C) three vowel sequence

(D) no vowel sequence

Direction (Q. No. 46 to 50) : Read the passage
given below and answer the questions that
follow by selecting the most appropriate
option.

True, it is the function of the army to
maintain law and order in abnormal times. But
in normal times there is another force that
compels citizens to obey the laws and so act
with due regard to the rights of others. The
force also protects the lives and the properties
of law abiding men. Laws are made to secure
the personal safety of its subjects and to



prevent murder and crimes of violence. They
are made to secure the property of the citizens
against theft and damage to protect the rights
of communities and castes to carry out their
customs and ceremonies, so long as they do
not conflict with the rights of others. Now the
good citizen, of his own free will obeys these
laws and he takes care that everything he does
is done with due regard to the rights and well-
being of others. But the bad citizen is only
restrained from breaking these laws by fear of
the consequence of his actions. And the
necessary steps to compel the bad citizen are
taken by this force. The Supreme control of
law and order in a state is in the hands of a
Minister who is responsible to the State
Assembly and acts through the Inspector
General of Police.

46. The  expression 'customs  and

ceremonies' means :

(A) Fair and Festivals

(B) Habits and traditions

(C) Usual practices and religious rites

(D) Superstitions and formalities

47. According to the writer, which one of
the following is not the responsibility of
the police ?

(A) to protect the privileges of all
citizens

(B) to
citizens

check violent activities of

(C) to ensure peace among citizens to
safeguard individual rights

(D) to  maintain  peace
extraordinary circumstances

during

Set-A
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APP-2

Which of the following reflects the

main thrust of the passage ?

(A) it deals with the importance of the
army in maintaining law and order

(B) it highlights role of the police as

superior to that of the army

(C) it discusses the roles of the army
and the different
circumstances

police in

(D) it points out to the responsibility of
the Minister and the Inspector
General of Police

Out of the following which one has the

opposite meaning to the word

'restrained' in the passage :
(A) promoted
(C) intruded

(B) accelerated
(D) inhibited

The last sentence of the passage implies
that :

(A) The Inspector General of Police is
the sole authority in matters of law
and order.

(B) In every State maintenance of
public peace is under the overall
control of the responsible Minister.

(C) A Minister and a responsible State,
Assembly exercise direct authority
in matters pertaining to law and
order.

(D) The Inspector General of Police is
responsible to the State Assembly
for maintaining law and order.

P. F: 0.



51.

52.

S3.

54.

SS.

Set-A

The problem of pronunciation arises in
English language because :

(A) There is deep relation between
letters and sounds

(B) There is no relation between letters
and sounds

(C) The number of letters and sounds is
fixed

(D) There are only letters in English

'Exaggeration’' word has syllables :
(A) Six Syllables

(B) Four Syllables

(C) Three Syllables

(D) Five Syllables

English language has :
(A) 12 vowel sounds
(B) 21 vowel sounds
(C) 20 vowel sounds
(D) 05 vowel sounds

Writing fixes the speech and reading
............... in child's mind.

(B) graphics
(D) alphabet

(A) patterns
(C) sounds

O Julius Caesar, thou art mighty yet ?
has the following figure of speech :

(A) Personification
(B) Apostrophe
(C) Metaphor

(D) Hyperbole

16
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The correct indirect form of the.

following sentence is : _

Keats wrote "A thing of beauty is a joy

forever".

(A) Keats wrote that a thing of beauty
was a joy forever.

(B) A thing of beauty was a joy forever
is written by Keats.

(C) Keats wrote that a thing of beauty
is a joy forever.

(D) Keats has written that a beautiful
thing is always joyful.

'A stitch in time saves nine' statement
means :

(A) to do a piece of work untimely

(B) timely proves availability

(C) time has no importance

(D) to do something very slowly

The correct alternative in following

sentences is :

(A) Neither she comes nor she writes

(B) Neither does she comes nor she
writes

(C) Neither does she come nor writes

(D) Neither does she come nor does she
write

Select the most suitable alternative in

the given sentences :

(A) An one eyed person was seen
roaming about the streets

(B) A one eyed person was seen
roaming about the streets

(C) The one eyed person was seen
roaming about the streets

(D) One eyed person was seen roaming
about the streets

The passive voice of 'Honey tastes
sweet' is :

_(A) Honey is sweet when it is tasted

(B) Honey is sweet with taste
(C) Honey is sweet when tasted
(D) Honey has sweet with taste



61.

62.

63.

64.

65.

66.

67.
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Second Language — English

Direction : (Q. No. 61 to 64) : Read the
passage given below and answer the questions
that follow by selecting the most appropriate

option.

Work expands so as to the time available for
its completion. The general recognition of this
fact is shown in the proverbial phrase. 'It is the
busiest man who has time to spare'. Thus an
elderly lady at leisure can spend the entire day
writing a postcard to her niece. An hour will be
spent in finding the postcard, another hunting
for spectacles, half an hour to search for the
address, an hour and a quarter in composition
and twenty minutes in deciding whether or not
to take an umbrella when going to the pillar
box in the street. The total effort that would
occupy a busy man for three minutes, all told,
may in the fashion leave another person
completely exhausted after a day of doubt,
anxiety and toil.

61. Explain the sentence : 'work expands so

as to fill the time available for its

completion'.

(A) The more work there is to be done,
the more time needed.

(B) What ever time is available for a
given amount of work, all of it will
be used.

(C) If you have more time, you can do
more work.

(D) If you have some important work to
do, you should always have some
additional time.

Set-A
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62. Who is the person likely to take more
time to do work ?
(A) A busy man
(B) A man of leisure
(C) An elderly person
(D) An exhausted person

63. What does the expression "Pillar Box'
stand for ? '

(A) A box attached to the Pillar
(B) A box in the pillar

(C) Box office

(D) .A pillar type post box

64. What is the total time spent by the
elderly lady in writing a postcard ?

(A) Three minutes

(B) Four hours and five minutes
(C) Half an hour

(D) A full day

: (0. No. 65 to 68) : Read the
passage given below and answer the questions
that follow by selecting the most appropriate
option.

It is not luck but labour that makes men. Luck,
says an American writer, is ever waiting for
something to turn up labour with keen eyes and
strong will always turns up something. Luck
lies in bed and wishes the postman would bring
him news of legacy, labour turns out at six and
with busy pen and ringing hammer lays the
foundation of competence. Luck whines,
labour watches. Luck relies on chance, labour
on character. Luck slips downwards to self
indulgence, labour strides upwards and aspires



to independence. The conviction therefore, is
extending that diligence is the mother of good
luck. In other words, that a man's success in
life will be proportionate to his efforts, to his
industry, to his attention to small things.

65. Which one of the following statements
sums up the meaning of the passage ?

(A) Luck waits without exertion, but
labour exerts without waiting.

(B) Luck waits and complains without
working - while labour achieves
success although it complains.

(C) Luck is self indulgent, but labour is
selfless.

(D) Luck Aoften ends in defeat but
labour produces luck.

- 66. Which one of the following words in
the passage indicates that the writer
does not ultimately reject the element of
luck ?

(A bkl o is ever waiting.
(B) Luck whines.

(C) Diligence is the mother of good
luck.

(D) Luck wishes the postman
would bring him news.

67. Which one of the statements is true
about the passage ?

(A) Luck is necessary for success.
(B) Success depends only on hard luck.

(C) Expectation of good luck always
meets with disappointment.

(D) Success is exactly proportionate to
hard work.

Set-A
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68. 'Labour turns out at six and with busy
pen and ringing hammer lays the
foundation of competence'. What does
this statement means ?

(A) Hard work of all kinds makes
people efficient.

(B) Labour says the foundation of the
building.

(C) The writer and the labourer are the
true eyes of the society.

(D) There is no worker who works so
hard as the labourer who begins his
days at six in the morning.

Direction : (0. No. 69 & 70) : Substitute the
sentences with correct choice from the
alternatives given.

69. That which is sure to happen :
(A) evitable
(B) inevitable
(C) credible
(D) incredible

70. The person who plays a game for
pleasure and not professionally :

(A) professional
(B) semi Professional
(C) immature

(D) amateur

Direction : (Q. No. 71 & 72) : Fill in the
blanks with correct word. _ :

71. He was advised to abstain ......... all
alcoholic drinks.
(A) in (B) at
(C) from (D) by
P T56:



.................

72. You must apologize him
.............. the wrong you have done him.
(A) from, against (B) from, on

(C) to, for (D) to, against

Direction : (Q. No. 73 & 74) : Replace the
underlined idioms/phrases with the option,
correct in meaning.

73. We kept our fingers crossed till the final
results were declared.

(A) waited expectantly
(B) kept praying

(C) felt scared

(D) kept hopeful

74. Pillar to post :
(A) one place to another
(B) very tiresome journey
(C) main support of a building
(D) clumsy looking objects

Direction : (Q. No. 75 & 76) Find out the part
that has error in the sentences given.

75. Neither I nor my secretary /
A)
were informed / of the cancellation /
‘ (B) ©
of the meeting.

(D)

76. It is one of those books /
(A)
which has been recommended /
B)
for specialists / in skin diseases.

© (D)
Set-A
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Direction : (Q. No. 77 & 78) : To correct the
underlined part of the sentence, replace it with
the correct option.

77. Because of his mastery in this field, his
suggestions are wide accepted.

(A) are widely accepted
(B) have widely accepted
(C) have been wide accepted
(D) are wide acceptance
78. No sooner he had returned home then
his mother felt happy.
(A) he had returned home when
(B) had he returned home when
(C) did he return home than
(D) did he returned home then

Direction : (Q. No.79 & 80) : Choose the
word nearest in meaning to. the underlined
words in the sentences.

79. He was trying to put across his ideas to
his audience.
(A) to convey
(B) to cross
(C) to convince

(D) to influence

80. He is believed to be a very industrious
worker.

(A) successful
’ (B) sensible
(C) punctual
(D) diligent



Direction : (Q. No. No. 81 & 82) : Choose the
word opposite in meaning to the underlined
word in the sentences.

81.

82.

The criminal was detained by the
police.

(A) deterred
(C) dismissed

(B) released
(D) protected

It is obligatory for a common citizen to
follow the rules.

(A) advisable
(C) superfluous

(B) unnecessary
(D) optional

Direction : (Q. No. 83 & 84) : Fill in the

blanks with correct

option to make the

meaning clear.

83.

84.

85.

Set-A
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Disarmament and development in our
time are interrelated  but
............. development will depend on a
change in the world's political thinking.

(A) essential, true
(B) naturally, final
(C) closely, near

(D) inevitably, sustainable

I is indeed :........:: that 70 years after
independence, we have failed to
suitable education or
examination system.

(A) bad, produce

(B) improper, create

(C) sad, evolve

(D) objectionable, present

A disorder related to
comprehension is ................

(A) Apraxia
(C) Aspeechxia

language

(D) Aphasia
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What kind of error is common between
a learner who is learning his mother
tongue and the learner who learns the
same language as second language ?

(A) Overgeneralization
(B) Simplification

(C) Developmental
(D) Hypercorrection

The smallest unit of meaning in a

language is :
(A) syntax (B) morpheme

(C) phoneme (D) pragmatics

A child learns language and accent
through :

(A) identification (B) suggestion

(C) imitation (D) language

As a teacher what would you do to

develop correct pronunciation in

children ?

(A) You will ask the children to write
dictation.

(B) You will correct the pronunciation
of children while instructing so that
the children can learn.

(C) You will lay emphasis on reading
books aloud.

(D) You will discuss on
pronunciation.

correct

The sounds th, ph, ch are :
(A) morphemes

(B) graphernes

(C) lexemes

(D) phonemes
P AP0
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In following, the palindromic number is :
(A) 12345 (B) 12321
(C) 10203 D) 13579

The digit in the tens place of a two digit
number is 3 more than the digit in the
units place. Let the digit at units place
be 5. Then the number is :

(A) 106 +3 (B) 115 +3
(C) 106+30 (D) 116+30

A circle of maximum possible size is
cut from a square sheet of board.
Subsequently, a square of maximum
possible size i cut from the resultant
circle. What will be the area of the final
square :

(A) — of original square

B)

of original square

©

of original square

®)

of original square

= N=, W | w

The surface area of the three coterminous
faces of a cuboid are 6 cmz, 15 cm? and
10 cm? respectively. The volume of the
cuboid is ‘

(A) 20 em? (B) 30cm’
(C) 35cm® (D) 40cm?
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If two quantities p and g vary inversely
with each other, then :

(A) (p + g) remains constant
(B) (p — g) remains constant
(©) (p x g) remains constant

(D) ( ] remains constant
q

The ratio of exterior angle to interior
angle of a regular polygon is 1 : 4. The
number of sides of the polygon are :

(A) 10 B) 9

©) 8 D) 6

If two adjacent angles of a parallelogram
are (5x — 5)° and (10x + 35)°, then the
ratio of these angles is :

(A)1:2 B)1:3

(€)1:4 {)2:3

In given kite, the value of (y —x) will be :

(A) 30°
(C) 45°

(B) 40°
(D) 50°

Which of the following is not the

o4
reciprocal of (5) :

3 4
) (5)
—4 4
© @) (D) 3—

PO
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100. To construct a unique parallelogram,
the minimum number of measurements
required is : ;

A) 2 B) 3
©) 4 (D) 5

101. Suppose a certain sum doubles in 2
years at 1% rate of simple interest per
annum or at R% rate of interest per
annum compounded annually. We have :

(A) r<R
B) R<r
© R=r
(D) Can't be decided

102. A student wused the proportion

" _3 4o find 5% of 32. What did
100 32

the student do wrong :
(A) Heis finding what percent is 5 of 32

(B) He is finding what percent is 32 of 5

(C) He is finding 32% of 5
(D) None of the above

103. Which of the following is in direct -
proportion :
(A) Side of a cube and its volume
(B) Speed of a vehicle and the distance
travelled in a fixed time interval
(C) Change in weight and height
_ among individuals
- (D) Number of pipes to fill a tank and

the time required to fill the same
~tank
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Which of the following statement is nof

true :

(A) The HCF of two distinct prime
numbers is 1

(B) The HCF of two co-prime numbers
is 1 :

(C) The HCF of two consecutive even
numbers is 2

(D) The HCF of an even and an odd
number is even

The sum of first three common
multiples of 3,4 and 9 is :

(A) 108 (B) 144
(C) 216 (D) 252

A polygon has prime number of sides.
~ Its number of sides is equal to the sum
of the two least consecutive primes. The
number of diagonals of the polygon is:

(A) 4 (B) 5
©) 7 (D) 10

Consider the statement, "Every odd
natural number is a prime". To disprove
this statement, it is sufficient if we can
give example of one odd natural
number which is not a prime, for
example natural number 9. Exhibiting
such a value for which the statement is
false, is known as :

(A) Verification value

(B) Negation

(C) Counter example
(D) Quantifiers



112.

113.

114.

Set-A

R 5T O I HYT e ©

(A) T H RIS

60°

(A) 30
(©) 90

B) 72

(D) 108

T g 3 R e o el @
SRt B ¢ R A wE I
% SRERAN &l § qU g9 FAW: e
g

(A) &t @ FIR Ee

(B) @ @ Fr TR

(€) &t & & o=

(D) T H F-AH

e A § @ Ped waE @ EET 10
IR ,

(A) TETHR RIS

(B) JasaR fed

(C) TR e

(D) ST oA

39

112.

113.

114.

145,

APP-2

The statement obtained
interchanging ~ the  premise
conclusion of a theorem is called :
(A) Contrapositive of theorem

(B) Converse of theorem

by
and

(C) Inverse of theorem
(D) Complementary of theorem

The given pie chart shows the result of
a survey carried out to find the modes
of travel used by the children to go to

‘school. If 6 children travel by taxi, how

many children took part in the survey :

(A) 30
(©) 90

B) 72
(D) 108

For drawing a frequency polygon of a
continuous frequency distribution, we
plot the points whose ordinates are the
frequencies of the respective classes and
abscissa are respectively :

(A) upper limits of the classes

(B) lower limit of the classes

(C) class marks of the classes

(D) class size of the classes :

Which of the following solid will have
10 faces :

(A) Octagonal pyramid

(B) Pentagonal prism

~(C) Pentagonal pyramid

(D) Octagonal prism
P.T.0:
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Which statement is #rue in ti_le following :
(A) A binomial may have degree 5

(B) A binomial can have atmost two
terms '

(C) Every polynomial is a binomial

(D) A polynomial cannot have more
than one zero

Which of the following needs a proof :

(A) Theorem
(C) Definition

(B) Axiom
(D) Postulate

While teaching 'solution of a linear
equation by graphical method, the
teacher decides one objective as follows —

"The pupil will be able to give
examples of linear equations."

This type of objective is :

(A) Remembering objective

(B) Understanding objective

(C) Applying objective

(D) Skill based objective

The use of computer in the teaching of
mathematics is mot helpful in the
development of :

(A) Cognitive domain
(B) Affective domain
(C) Psychomotor domain
(D) All of the above

The main aim of drll work in
mathematics is :

(A) To understand new formula
(B) To enhance computation skill

(C) Utilize the
circumstances

knowledge in new

(D) To clear the new concept
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A change in the physical state can be :

brought about :

(A) Only when energy is given to the
system

(B) Only when energy is taken out
from the system

(C) When energy is either given to, or
taken out from the system

(D) Without any energy change

If the displacement of an object is

proportional to square of time, then the

object moves with :

(A) uniform velocity

'(B) uniform acceleration
- (O) increasing acceleration

(D) decreasing acceleration

An object is put one by one in three
liquids having different densities. The
object floats with +, 2 ang 3

9 7

of their volumes outside the liquid
surface in liquids of densities d;, d, and
d; respectively. Which of the following
statement is correct -

(A) di>d,>d; (B) di>dy<ds
(C) di<dy>d; D) d;<d; <d;

When we change feeble sound to loud
sound we increase its : :

(A) frequency (B) amplitude

(©) velocity (D) wavelength
Geeta  visited a Natural  Gas
Compressing Unit and found that the
gas can be liquefied under specific
conditions of temperature and pressure.
While sharing her experience with

parts

~ friends she got confused. Help her to

indentify the correct set of conditions ;
(A) Low temperature, low pressure
(B) High temperature, low pressure
(©) Low temperature, high pressure
(D) High temperature, hi gh pressure

P T a6y
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(B) (ii), (iii) T (iv)

(©) (i), (iii) T4 (v)

(D) (@), (i) & (iv) \
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TR @ ST @ '

(A) FTeN SIS YAl ATRISH
(B) ggIei ST SeriloT

(C) FE SReTaREs Jgdl BliaaH

(D) &feEm Sl g
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(A) AgsN (B) Ag,0 \
(C) Ag,S (D) Ag,S a1 Ag;N
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Two substances, A and B were made to
react to form a third substance, A,B
according to the following reaction :

2A+B —> A;B

Which of the following statements
concerning this reaction are incorrect :

(i) The product A;B shows the
properties of substances A and B

(ii) The product will always have a
fixed composition

(iii) The product so formed cannot be
classified as a compound

(iv) The product so formed is an element
(A) (1), (i) and (i11)

(B) (ii), (iii) and (iv)

(©) @), (iii) and (iv)

(D) @, (i) and (iv)

Which of the following gases can be

used for storage of fresh sample of an
oil for a long time :

(A) Carbon dioxide or oxygen
(B) Nitrogen or oxygen
(C) Carbon dioxide or helium

(D) Helium or nitrogen

To protect tooth decay, we are advised
to brush our teeth regularly. The nature
of the toothpaste commonly used is :

(A) acidic (B) neutral
(C) basic (D) corrosive

Silver articles become black on
prolonged exposure to air. This is due to
the formation of :

(A) Ag;N B) Ag,0
(C) Ag,S (D) Ag,S and Ag;N
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Which of the following statements are

usually correct for carbon compounds :

(i) These are good conductors of
electricity.

(i1) These are poor conductors of
electricity.

(iii) They have strong forces of
attraction between their molecules.

(iv) They do not have strong forces of
attraction between their molecules

(A) (1) and (iii)) (B) (ii) and (iv)

(©) (i) and (iii) (D) (i) and (iv)

Four children were asked to arrange
forces due to rolling, static and sliding
frictions in a decreasing order. Their
arrangements are given below. Choose
the correct arrangement :

(A) static, sliding, rolling

(B) rolling, static, sliding

(C) sliding, static, rolling

(D) rolling, sliding, static

In which of the following groups of
organism, food material is broken down
outside the body and absorbed :

(A) Yeast, Mushroom, Mould

(B) Mushroom, Green Plants, Amoeba
(C) Paramecium, Amoeba, Cuscuta

(D) Cuscuta, Lice, Tapeworm

Lack of oxygen in muscles often leads

to cramps among cricketers. This results
due to :

(A) Conversion of pyruvate to ethanol
(B) Conversion of pyruvate to glucose
(C) Non-conversion of glucose to

" pyruvate
(D) Conversion of pyruvate to lactic
acid

P.4YO:
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(B) R;>R,> R
(D) R;>R3>R;

(A) R1 = Rz o R3
(C) R3>Ry >Ry
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For the metamorphosis of tadpoles
which of the following element must be
available in water :

(A) Chlorine
(C) Sulphur

(B) Carbon
(D) Iodine

A student sitting on the last bench can
read the letters written on the
blackboard but is not able to read the
letters written in his text-book. Which
of the following statement is correct :

(A) The near point of his eyes has
- receded away.

(B) The near point of his eyes has come
closer to him.

(C) The far point of his eyes has come
closer to him.

(D) The far point of his. eyes has
receded away.

A student carries out an experiment and
plots the V-I graph of three samples of
nichrome wire with resistances Ri, Ry
and Rj respectively. Which of the

following is frue :
A

(Ampere) R
R,
R;3
V (Volt)
(A) Ri=R;=R; (B) Ri>R;>R;

(C) Rs>R,>R; (D) R,>Rs>R,



138.

139,

140,

141.

Set-A

B) ®T & fp TIA W 7
EAG R
(©) % ghmy ﬁsnﬁmma%ﬁ%:

ﬁwf%g@afféﬁwﬁtqﬁawmm
T 2 -
(A) g (B) TRmves

(B) =7 iz
(C)Wﬁvraam#ﬁgamm
(D)aﬁaemanﬁww%
Wmmaw%ﬁmw-ﬁs%w
¥ 7 oy

(A) TRyt REZE o
Sqor

(B)Wmm@mm@aﬁ
AqE

(C) Ty SRS B s B SRiST F
STggT

137. According to the third law of motion,

138.

139.

140.

141.

action and reaction :
(A) always act on the same body.
(B) always act on two different bodies,

(C) have same magnitude and directions,
(D) have different magnitude apq
directions,

Which of the following is j0¢ a member
of the solar System :

(A) An asteroid B) A constellation
(©) A comet (D) Meteors

Meena and Hari obseryed an anima] in
their garden. Hari called it an insect
while Meenga said it was an earthworm,
Choose the character from the foliowing
which confirmg that it is an insect :

(A) Body with Jjointed legs

(B) Bilatera] Symmetrica] body

© Cylindrica] body

(D) Body with little S€gmentation

Reaction between X and Y, forms
Compound 7. x loses electron and Y
gains electron. Which of the foHowing
Properties is pof shown by 7 .

(A) Has low melting point

(B) Has high melting point

(C) Conducts electricity in molten state
(D) Occurs as solid

Choose the cvent that does p0f oceur in

photosynthesis -

(A) Absorption of light energy by
chlorophyi] i

(B) Reduction of carbon dioxide to
carbohydrates

(©) Oxidation of carbon dioxide to
oxygen

(D) Conversjon of

light energy to
chemica] energy :

PiT@.
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Match the List-I and List-IT and select
the correct answer :

List-I List-II

(a) false fruit (1) Guava

(b) true fruit (2) Apple

(c) parthenocarpic (3) Banana
fruit
@i hisiaG

(A Fei 2. 003

By 2 "3 1

€ 2 =1 3

(D) 3+ 1 2

Match the Column-I with Column-II :
Column-I - Column-II

(Name of acid) (Found in)

(a) Oxalicacid (1) Tamarind
(b) Ascorbic acid (2) Amla

(c) Formicacid (3) Spinach
(d) Tartaricacid (4) Ant's sting

a b c d
(A) 4 1 3 2
(B) 3 2 4 | P
©) 2 3 1 4
(D) 1 4 2 3

The substance that triggers the fall of
mature leaves and fruits from plants is
due to :

(A) gibberellin  (B) abscisic acid

(C) cytokinin (D) fumaric acid

Consider the following

regarding blood pressure :

I. The force that blood exerts against
the wall of blood vessels is called
blood pressure.

II. This pressure is much greater in
veins than in arteries.

III. Blood pressure is measured with an
instrument called sphygmomanometer.

Which of the statements given above

are correct :

(A) I'and II

(C) Iand II

statements

(B) I and III
(D) I, and III
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Which of the following best exemplifies

the practices of science as enquiry :

(A) Placing different objects in bucket
of water to find which one floats

(B) Following instructions in
constructing an electric bell

(C) Listing out what materials are
needed to construct electric_motor

(D) Classifying objects

Which of the following is the first step-
in scientific method of problem solving :
(A) Problem awareness

(B) Formation of hypothesis

(C) Verification of hypothesis

(D) Collection of data

Bringing together scientific ideas to
form a unique idea is :

(A) Analysis
(C) Synthesis

(B) Application

(D) Skill

Which is most suitable method in
teaching of Science :

(A) Lecture method

(B) Demonstration method

(C) Discussion method

(D) Project method

The ultimate focus of scientific method
ison:

(A) Observation
(B) Hypothesis formation
(C) Hypothesis verification

(D) Formation of a law

PP,
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Which among the following books was
translated into Persian and named
'Kaleel Vas Dimna' :

(A) Katha Saritsagar

(B) Betal Pachchisi

(C) Panchatantra

(D) Meghadutam

In ancient time which of the following
Indian Sea port was the chief port for
the Voyage to Java and Sumatra :

(A) Bharoach

(B) Sopara

(C) Tamralipti

(D) Canton

In which among the following states
Lingaraj temple is situated :

(A) Tamil Nadu

(B) Karnataka

(C) Orissa

(D) Kerala

Which'among the following, the second
Urbanization started with :

(A) Northern Black Polished ware
(B) Painted Gray ware

(C) Black and Red ware

(D) Red ware

During the reign of Chandragupta
Maurya, the administration of
Pataliputra was under :

(A) Two committees
(B) Four committees
(C) Six committees

(D) Eight committees
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Who among the following was
appointed by Ashoka for judicial
administration :

(A) Dhamma Mahamatras

(B) Rajjukas

(C) Mahamatras

(D) Shramanas

Which among the following are the scripts
of Ashokan edicts in Afghanistan :

(A) Brahmi and Kharoshti

(B) Brahmi and Greek

(©) Kharoshti and Aramic

(D) Greek and Aramic

Jorwe at Maharashtra is associated
with :

(A) Neolithic culture

(B) Chalcolithic culture

(C) Mesolithic culture

(D) Megalithic culture

Who among the following was proud of
telling himself, 'The Curse of God':

(A) Malik Kafur

(B) Taimur Lang

(C) Changez Khan

(D) Nadir Shah

Among which of the following reign,

Malik Mohammad Jayasi  wrote,
'Padmavat' :

(A) Akbar
(B) Shershah
(C) Jahangir
(D) Shahjahan
P.T.O.
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Match the List-I and List-IT and choose
the right answer from the codes given :

List-I (Year) List-II (Events)

(a) 1206 (i) Invasion  of
Taimur

(b) 1290 (i1) Khilji
Revolution

(e} 1333 (iii) Ibn  Batuta's
India Visit

(d) 1398 (iv) Death of
Qutubuddin
Aibak

Codes :

(A) a-i, b-ii, c-iii, d-iv
(B) a-iv, b-ii, c-iii, d-i
(C) a-iv, b, c-ii, d-i
(D) a-iv, b, c-ii, d-iii

Charminar at Hyderabad was built by :

(A) Ibrahim Adilshah
(B) Quli Qutubshah
(C) Nizam Shah

(D) Khan-e-Jahan Lodi

Jat revolt against Aurangzeb in 1669
was led by :
(A) Rajaram
(C) Gokula

(B) Churaman

(D) Bhagu

Who among the following was the
founder of the state of Awadh :

(A) Nizam-ul-Mulk

(B) Saadat Khan Burhan-ul-Mulk

(C) Safdar Jung

(D) Aliwardi Khan
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(C) 2000

(B) 1999
D) 2002
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Who among the following was the first
Peshwa of Maratha confederacy :

(A) Balaji Vishvanath
(B) Baji Rao

(C) Balaji Baji Rao
(D) Madhav Rao

East India Company's trade monopoly ‘
of Tea was abolished by :

(A) Pitt's India Act
(B) Regulating Act
(C) Charter Act of 1813
(D) Charter Act of 1833

Who among the following established
‘Widow Remarriage Association' :

(A) Ishwar Chandra Vidyasagar

(B) Rabindranath Tagore

- (C) Vishnu Shastri Pandit

108.

109.

110.

(D) Gopal Hari Deshmukha

In which year, Mahatma Gandhi

established Sabarmati  Ashram at
Ahmedabad :

(A) 1915 (B) 1916

(©) 1917 (D) 1918

‘Suffrage Movement' is related to :
(A) Right to vote for all women
(B) Right to freedom

(©) Right to equality

(D) Girls education

The Supreme Court asked all state
governments to begin 'Mid Day Meal
Scheme' in their schools within Six
months, in year ;
(A) 2001

(C) 2000

(B) 1999
(D) 2002
P.T.O.



111.

142:

143:

114.

115.

Set-A

FeiaRea aiRafa & e Qe after
%1 IIET & @ 2

A Fedl I B FE AT T T B
gﬁ?ﬁaﬁmmﬁmm@rm
|

(A) FHMAT & AfHR

(B) o=l & SR

(C) AN B fa5s ARRHR

(D) Hagrfve IR & SR
fFrefofed wat & @ foed @9@ @A
depas die (89) ¥

(A) TTRES
(B) BiETe
(C) Eara w_a
(D) FRE'S

R wEeuE F e oY aw W)
IOREH F Th I

g

(A) =BT 39'A'
(B) Tg=8% 35'A" .
(C) oT=B= 51'A
(D) 1T 23

g S wd orggfa S
(e faren) sfafam s T

(A) 1989 & (B) 1991 #
(C) 1998 & (D) 1996 #

fr=feiaa i #oMt W) e ik .
(i) T TR ST TH-gEt & TR
£ 98l amIfoTe fawe B B
() 76 G99 8 5 & g A #E

9T & |
(iii) % 9RT S 92 AW T & g
faem 2 E
T B 7 9 BE-A1/8 FUT ge 7
Q) ()RGE) B (@), Gi) R (i)
(C) (i) IR (i) (D) Bad (iii)

52

111.

112.

113.

114.

115.

. Scheduled Tribes

APP-2

Which fundamental right will the
following situation violate :

- If a politician in one state decides to not

allow labourers from other states to
work in his state.

(A) Right to equality

(B) Right to freedom

(C) Right against exploitation

(D) Right to constitutional remedies
Which of the following state has the
least number of Lok  Sabha
Constituencies :

(A) Uttarakhand

(B) Chhattisgarh

(C) Himachal Pradesh

(D) Jharkhand

According to which Article of Indian
Constitution placed a duty upon the
state to provide a lawyer to any citizen
who is unable to engage one due to
poverty or other disability :
(A) Article 39'A’ '

(B) Article 35'A’

(C) Article 51 'A'
(D) Article 23

The Scheduled Castes and the
(Prevention of
Atrocities) Act was framed in :
(A) 1989 (B) 1991

(C) 1998 (D) 1996

Consider the following three statements :

(i) Social divisions take place when
social differences overlap.

(ii) It is possible that a person can have
multiple identities.

(iii) Social divisions exist in only big
countries like India.

Which of the statements is/are correct ?

(A) () and (ii) (B) (i), (ii) and (iii)

(C) (ii) and (iiiy (D) Only (iii)
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In India, seats are reserved for women
in:

(A) Lok Sabha

(B) State Legislative Assembly

(C) Cabinet

(D) Panchayati Raj Bodies

Which one of the following countries
was the first to grant universal adult
franchise to its citizens :

(A) Britain

(B) United States of America
(C) India

(D) New Zealand

Which of the following statements
about the Indian Judiciary is false :

(A) Every law passed by the parliament
needs approval of the Supreme
Court.

(B) Judiciary can strike down a law if it
goes against the spirit - of the
constitution.

(C) Judiciary is independent of the
Executive.

(D) Any citizen can approach the courts
if her/his rights are violated.

Which of these is not a good reason to
say that Indian elections are democratic :

(A) India has the largest number of
voters in the world.

(B) India’s Election Commission is
very powerful.

(C) In India everyone above the age of
18 has a right to vote.

(D) In India, the losing parties accept
the election verdict.

P O.
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Match the following leaders with their
roles in the making of the Indian
constitution :

Leader Role
(@) MotiLal Nehru (i) Chairman of the
: Drafting
Committee
(b) Dr.B.R. (i) Member of the
Ambedkar Constituent
Assembly
(c) Dr. Rajendra (iii) President of the
Prasad Constituent
Assembly
(iv) Prepared a

(d) -Sarojini Naidu :
' constitution for
India in 1928

Choose the correct option :
(A) a-iv, b-i, c-iii, d-ii
(B) a-ii, b-i, c-iii, d-iv

(C) a-i, b-iii, c-iv, d-ii

(D) a-ii, b-ii, ¢, d-iv

The Council of States (Rajya Sabha)
shall return money bill to the House of
people (Lok Sabha) within a period of :

(A) 14 days
(C) 21 days

(B) six months

(D) three months

In the context of assessing démocracy
which arhong the following is not
according to democratic principles. Find
it

(A) Majority rule

(B) Free and Fair elections

(C) Dignity of the individual
(D) Equal treatment before law
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Consider the following statements on
the meaning of communal politics.
Communal politics is based on the
belief that :

(i) One religion is superior to that of
others.

(i) People belonging to different
religions can live together happily
as equal citizens.

(ii1) Followers of a particular religion
constitute one community.

(iv) State power can not be used to
establish the domination of one
religious group over others.

Which of the statements is/are correct ?

(A) (i) and (iii)

(B) (1), (i1), (i11) and (iv)

(C) only (i)

(D) only (iii)

Which Article is described as the "Heart

and Soul of the Indian Constitution" :

(A) Article 20 (B) Article 32

(C) Article 36 (D) Article 50

What can be the maximum gap between
two sessions of parliament in India :

(A) Three months

(B) Nine months

(C) Six months

(D) No rule like this

Best method to teach map and globe is :
(A) Lecture

(B) Home Assignment

(C) Narration

(D) Project method

Difference between social studies and
social science is nof based on : ;
(A) Content (B) Approach

(C) Treatment (D) None of these

P, IO
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Which is not a type of map skill :

(A) Knowledge of direction

(B) Knowledge of longitude & latitude
(C) Knowledge of population

(D) Knowledge of time & distance

Which approach is nof related to
teaching of social studies :

(A) Unit approach

(B) Standard approach

(C) Integration approach

(D) Correlation approach

What should be taught first while
teaching a map :

(A) explain the scale in the map

(B) explain the importance of lines

(C) teach them the directions

(D) meaning of colours in map

What would be your expectations from

students during field trip :

(A) students should observe everything
without asking any question about it

(B) students should observe everything
keenly and ask questions about
them :

(C) students should enjoy themselves
and let their teachers also enjoy
them :

(D) if the students want to ask any
question, they should write it in the

diary
Who said, "Social studies is the study of

the activities related to social and
physical environment" :

(A) Mykelis

(B) Waslley

(C) J.F. Forrester
(D) James Hemming
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Asteroids are found between the orbits
of :

(A) Saturn and Jupiter

(B) Mars and Jupiter

(C) The Earth and Mars

(D) Mercury and Venus

Direct rays of the sun fall to the equator
on:

(A) 21 June (B) 22 December
(C) 23 September (D) None of these

Some maps focus on specific
information; such as road maps, rainfall
maps etc. These types of maps are
known as :

(A) Physical Maps

(B) Historical Maps

(C) Political Maps

(D) Thematic Maps

The Rhine Valley and the Vosges
mountain are examples of :

(A) Volcanic Mountain System

(B) Block Mountain System

(C) Fold Mountain System

(D) None of these

Which of the following is nof correctly
matched ?

Water Falls Location
(A) Angel — South America
(B) Niagara — North America
(C) Victoria — Australia
(D) Jog — Asia
Oxbow lake is formed by :
(A) River (B) Glaciers
(C) Wind (D) Volcano

P. T ©.
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Consider the following statements with
regard to the Stratosphere and state
which statement is nof correct ?

(A) It lies between Troposphere and
Mesosphere.

(B) Most ideal conditions for flying
aeroplanes.

(C) It contains a layer of ozone gas.

(D) Meteorites burn up in this layer on
entering from the space.

Which one of the following methods is
most appropriate to check soil erosion
on steep slopes :

(A) Shelter belts

(B) Mulching

(C) Terrace Farming
(D) None of these

Which of the following is not correctly
matched ?

Cultivation Couﬁtry
(A) Jhumming — India
(B) Milpa — China
(C) Roca — .. Brazil
(D) Ladang — Malaysia

Consider the following statements with
regard to the Migration and state which
statement is nof correct ?

(A) Due to migration population size
changes.

(B) Immigrants are people who leave a
country, Emigrants are those who
arrive in a country.

(C) Main cause of migration is search
of employment, education and
health facilities.

(D) None of these
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For involving local communities in the
management and restoration of forest,
first resolution for joint  forest
management passed by :

(A) Orissa in 1988

(B) Uttar Pradesh in 1988

(C) Himachal Pradesh in 1985
(D) Madhya Pradesh in 1988

Which one of the following describe a
System of agriculture where a single
Crop is grown on a large area :

(A) Shlftmg Agriculture
(B) Intensive Agriculture
(C) Plantation Agriculture
(D) None of these

Which one of the following statements

Is not an argument in favour of Multi-

purpose river projects :

(A) Multi-purpose projects, by
regulating water flow, helps to -
control floods.

(B). Multi-purpose projects brings water
to those areas which suffer from
water scarcity.

(C) Multi-purpose projects leads to
large scale displacements.

(D) Multi-purpose projects generate
electricity. :

Which two of the following extreme
locations are connected by east-west
corridor : » :

(A) Silchar — Porbandar

(B) Siliguri — Nagpur

(C) Gandhi Nagar — Dispur

(D) Mumbai — Kolkata

PTG
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Match the List-I with List-II and select
the correct answer using the codes
given below :

List-1 List-IT
(Area) (Minerals)
a. Koderma 1. Iron Ore
b. Kudremukh 2. Copper
c. DBalaghat 3. Mica
d. Koraput 4. Bauxite
Code :
a b c d
EAY A s 2
B) 3 1 2 4
(€4 27 -3 1
M2 4 1 3
Which of the following is not correctly
“matched ? .
' Passes Location
(A) Zojila — Jammu & Kashmir
(B) Shipki La — Himachal Pradesh
(C) Nathula  — Sikkim

(D) JelepLa — Arunachal Pradesh

Which of the following Sanctuaries is
situated in Rajasthan :

(A) Kanha National Park

(B) Dachigam Sanctuary

(C) Manas Sanctuary

(D) Sariska Sanctuary

‘Which of the following is not correctly
matched : :

Atomic Location
Power Plant (State)
(A) Kalpakkam  — Tamil Nadu
(B) Narora —  Uttar Pradesh
(C) Rawatbhata — Rajasthan
(D) Tarapur — Madhya
Pradesh
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Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language — Hindi OR English. Candidate has

to select the questions of only one language as
the First language. Answer the questions of

the language which the candidate has selected
as First language in his/her application form.

. Question Nos. 61 to 90 are related to Second

language — Hindi OR English OR Sanskrit
OR Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in his/her application form.
Be careful that the language selected as First
language cannot be taken as Second language.

. Question Nos. 91 to 150 are related to

Mathematics and Science OR Social Studies.

The candidate has to answer the subject
OR  Social
Studies as selected by the candidate in the

Mathematics and Scienee

application form.

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If
you cannot answer a question, proceed to the
next one.

Do not fold or damage the OMR answer sheet
any way. :

After examination submit your OMR answer
sheet to the invigilatbr. Candidates are
allowed to take away the carbon copy of OMR
answer sheet and Question Booklet.



